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H k kxH k kxH k kxH k kx     – I / PART – I 

c ky fodk l o  f' k{k k' kkL=c ky fodk l o  f' k{k k' kkL=c ky fodk l o  f' k{k k' kkL=c ky fodk l o  f' k{k k' kkL= / CHILD DEVELOPMENT AND PEDAGOGY 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %     f uEu fy f[ kr iz'uk s a d s m Ù kj ns us d s f y,     l c ls m fprl c ls m fprl c ls m fprl c ls m fpr     f od Yi pq f u,A     
Direction :  Answer the following questions by selecting the most appropriate option. 

1. fu Eu fyf [k r es a ls d kS u &lk F kkWu Z Mk bd  }k jk 
iz fr ik fnr lh [k us d k iz eq [ k fu ;e  u ghau ghau ghau gha  gS \ 
 

(1) v H ; kl d k  f u; e 

(2) izH kk o d k  f u; e 

(3) r Rijrk d k  f u; e     

(4) l kek U; hd j. k d k fu ; e 

  
1. Which of the following is not the 

main law of learning as prescribed 

by Thorndike ? 

(1) Law of Exercise 

(2) Law of Effect 

(3) Law of Readiness 

(4) Law of Generalization 

2. ^ l a os xkRe d  c q f) * 'kCn d k s lo Z izF k e fd lus 
iz Lrq r f d ; k \ 

(1) Ý s M fjd  , oa fdd Z 

(2) gs ujh  , oa ihV j  

(3) t kW u , oa Øk W uc Sd     

(4) e s ;j ,o a lyk s s os 

  
2. Who first introduced the word 

'Emotional Intelligence' ? 

(1) Fredrick and Kirk 

(2) Henry and Peter 

(3) John and Cronback 

(4) Mayer and Salovey 

3. fu Eu fyf [k r es a l s d k S u&lk m ik xe  v f/k xe  
v ; ks X; c kyd ksa d s O ;o gk j d k  f o'y s" k. k d j 
m ud h  v f/k xe  U;w u rk  d s ew y  d kj. kk s a ds 
tk uu s d s iz ;k l ij v k/k kfjr  gS \ 

(1) e uk s fo'y s "k. k kRe d  mikxe 

(2) O ;o gk jok nh  m ik xe  

(3) o S ;f Dr d  v uq ns'ku kRe d mikxe     

(4) c gq bUnz h; mikxe  

  
3. Which of the following approach is 

based on analysing the behaviour of 

disabled child and find out the root 

cause of his/her learning deficiency ? 

(1) Psychoanalytic approach 

(2) Behavioural approach 

(3) Individualized instructional 

approach 

(4) Multisensory approach 
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4. ^ y q Ir v f/k xe * l a iz R; ; dks lo Z izF k e fd lus 
ifjfp r d jk; k \ 

(1) d q V Z ys fo u 

(2) bZ0  , y0  F k kWuZ M kbd 

(3) , Mo MZ ps l  V kW y eS u     

(4) iko yk s o 

  
4. Who first introduced the concept of 

"Latent Learning" ? 

(1) Kurt Lewin 

(2) E. L. Thorndike 

(3) Edward Chace Tolman 

(4) Pavlov 

5. ^ iz d k; Z o kn* d s iz e q [k  iz o rZd d k S u F ks \ 
 

(1) f of y; e ts El 

(2) t s0  ch0  ok V~l u 

(3) Dyk d Z gy     

(4) , Mo MZ V kW yeS u 

  
5. Who was the main propounder of 

'functionalism' ? 

(1) William James 

(2) J. B. Watson 

(3) Clark Hull 

(4) Edward Tolman 

6. fu Eu fyf [k r esa ls d kSu &lk tUe tkr 
v fH k iz s jd  d k  m nkgj. k  gS \ 

(1) iq jLd kj  

(2) H k w [k  

(3) n. M  

(4) iz ks R lkgu 

  
6. Which of the following is example 

of Innate Motive ? 

(1) Award  

(2) Hunger 

(3) Punishment  

(4) Incentives 

7. c kyd  d s 'kjh j ea s gks u s o kys y S a fxd 
ifjo rZ u ] fo d kl  d h d kS u&lh v o LF kk  es a 
fn[ kk bZ ns uk  iz kjEH k gks tk rs gS a \ 

(1) iw o Z c kY; ko LF kk 

(2) i'p fd 'k ks jko LF kk  

(3) o ;Ld ko LF kk     

(4) o ;% la f/k  d ky 

  
7. In which stage of development, the 

sexual changes that occur in the 

child's body starts to appear ? 

(1) Early childhood 

(2) Later Adolescence 

(3) Adulthood 

(4) Puberty 
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8. Dykf ld y  v u q cU /ku  d k v U; u ke  D; k  
gS \ 

(1) ^ , l*  iz d k j d k  v u q cU/ku 

(2) ^v k j* iz d k j d k  vuq cU /ku 

(3) ^ , l&v kj* iz d kj d k v uq cU/k u     

(4) ^ ; w* iz d kj d k v uq c U/ku 

  
8. What is the other name of classical 

conditioning ? 

(1) Type S conditioning 

(2) Type R conditioning 

(3) Type S-R conditioning 

(4) Type U conditioning 

9. ßifjJef iz; r k  cu ke ghu rkÞ v oLF k k d s 
fy , , fjDl u us d k Su &lk v k; q l ew g cr k; k 
gS \ 

(1) 6 ls 11 o "kZ  

(2) 12 ls 20 o"k Z  

(3) 3 ls 6 o"k Z 

(4) 18 ek g ls 3 o "k Z 

  
9. What is age group given by Erikson 

for the stage "industry vs 

inferiority" ? 

(1) 6 to 11 years 

(2) 12 to 20 years 

(3) 3 to 6 years 

(4) 18 months to 3 years 

10. fu Eu fyf [k r ea s ls d kS u&lk  ^ f od kl*  d k 
lgh f l) kUr u ghau ghau ghau gha  gS \ 

(1) l ka rR ; d k  f l) kUr 

(2) o S ;f Dr d  fH k Uur k dk f l) kUr 

(3) iS V uZ d h , d :irk d k  f l)kU r     

(4) f of 'k"V ls lk ekU ; iz f rf Ø ;k v ks a d h 
d k ;Z o kgh d k  f l) kU r 

  
10. Out of the following which is not 

correct principle of 'Development' ? 

(1) Principle of continuity 

(2) Principle of individual difference 

(3) Principle of uniformity of pattern 

(4) Principle of proceeding from 

specific to general responses 

11. fu Eu fyf [k r e s a ls d kS u &l k ^ e uk s fo Kku d k 
la iz nk;* ¼ fo pkj½ ^ C yS d  ck W Dl  F ;k sjh * ds 
u ke ls tk uk  t krk  gS \ 

(1) O ;o gk jok n  

(2) l a jp uk ok n 

(3) iz d k; Z o kn  

(4) xs LVk YVo kn  

  
11. Which of the 'thoughts of school' in 

Psychology is also called as 'Black 

box theory' ? 

(1) Behaviourism   

(2) Structuralism 

(3) Functionalism  

(4) Gestaltism 
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12. fu Eu fyf [k r e s a ls d kS u &l k v PNs ekufl d 
Lo kLF ; d k  y{k. k  u gh au gh au gh au gh a  gS \ 
 

(1) l ek; ks t u ;k s X;r k 

(2) l a os xkRe d  if jiDo rk  

(3) v k Ref o'o kl      

(4) v l gu 'khy rk  

  
12. Which of the following is not the 

characteristic of Good Mental 

Health ? 

(1) Ability to adjust 

(2) Emotional Maturity 

(3) Self-confidence 

(4) Intolerance 

13. d S V y l a LÑ fr eq Dr cq f)  ijh {k. k d h 
e kiuh I fd l d s fy, cu k; h x; h F kh  \ 
 

(1) 8 ls 12 o " kZ d s e ku fld  nk s "k ok ys 
O ;fDr ;k s a d s fy, 

(2) 4 ls 8 o"k Z d s ek uf ld nks "k  ok ys 
O ;fDr ;k s a d s fy, 

(3) 12 ls 15 o" kZ d s ek uf ld  nk s "k ok ys 
O ;fDr ;k s a d s fy, 

(4) 2 ls 4 o"k Z d s ek uf ld nks "k  ok ys 
O ;fDr ;k s a d s fy, 

  
13. Scale I in Cattell Culture Free 

Intelligence Test was prepared for 

whom ? 

(1) For 8 to 12 years mental 

deficient person 

(2) For 4 to 8 years mental deficient 

person 

(3) For 12 to 15 years mental 

deficient person 

(4) For 2 to 4 years mental deficient 

person 

14. fu Eu fyf [k r ea s ls d kS u &l k ^ jpuk Re d rk  d h 
iz fØ ; k* ds fy , lghlghlghlgh  r kfd Zd  Ø e gS \ 

(1) v a r n` Z f "V → rS ; kjh → if jik d  → 
l R;k iu  

(2) r S ;k jh  → v a r n` Z f "V → if jik d  → 
l R;k iu  

(3) r S ;k jh  → ifjikd  → v a r n Z̀ f "V → 
l R;k iu     

(4) r S ;k jh  → v a r n` Z f "V → lR ;k iu  → 
ifjikd  

  
14. Which of the following is the correct 

logical order for 'process of creativity' ? 

(1) Insight → Preparation → 

Incubation → Verification 

(2) Preparation → Insight → 

Incubation → Verification 

(3) Preparation → Incubation → 

Insight → Verification 

(4) Preparation → Insight → 

Verification → Incubation 
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15. fu Eu fyf [k r es a l s d kSu &lk in f Ø ;k &iz lw r  
v u qc U/k  l s l a caf /kr u gh au gh au gh au gh a  gS \ 
(1) v Ur n` Z f"V 
(2) iq uc Z yu 
(3) Lo r%  iq u ykZH k     
(4) f oy ks iu 

  
15. Which of the following terms is not 

related with the operant conditioning ? 

(1) Insight 

(2) Reinforcement 

(3) Spontaneous Recovery 

(4) Extinction 

16. o s c Pps tks fo fH kUu izdkj d h v f/k xe  
le L;k v ks a ls xz flr j gr s  gS a]  m ud s fy, 
^v f /kxe v {ke * 'kCn d k iz ; ks x loZ izF ke  
fd lus fd ;k  \ 

(1) gs o kMZ 

(2) l S eqv y fd dZ 

(3) o S u fjij     

(4) c d Z 

  
16. Who introduces 'Learning Disable' 

word very first for the children 

suffered from various learning 

problems ? 

(1) Heward 

(2) Samuel Kirk 

(3) Van Riper 

(4) Birch 

17. fu Eu fyf [k r es a l s d k Su&lk  e uks o S Kk fud 
ßv kR ek  d s fo Kku d s :i e as e uks fo Kk uÞ 
fo pk j/kkjk  d k  leF kZ d  ughaughaughaugha  gS \ 

(1) I ys V ks 

(2) v jLr w 

(3) M s d kV sZ 

(4) o q . V 

  
17. Which of the following Psychologist 

is not supporter of views about 

"Psychology as a Science of Soul" ? 

(1) Plato  

(2) Aristotle 

(3) Descartes 

(4) Wundt 

18. e uks f oK ku  d h d kS u &l h 'kk [k k e s a V sy hiSF kh ] 
iq utZ U e t S ls {k s =ka s d k v /;; u fd ; k t kr k 
gS \ 

(1) nS fgd  eu ks f oK ku 

(2) u S nk fu d  eu ks fo Kku 

(3) v r hf Unz ; eu ks foKk u     

(4) f od k lk Red  e uk s fo Kku 

  
18. In which branch of Psychology there 

is a scope of study of Telepathy, 

Rebirth etc. ? 

(1) Physiological Psychology 

(2) Clinical Psychology 

(3) Parapsychology 

(4) Developmental Psychology 
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19. th u fi;k ts d s v uq lk j c kyd  d kSu&l h 
v o LF kk e s a ifjd Yiuk v ks a d ks le >u s d h 
rF kk r kf d Z d  o kD;k sa d s vk/k kj ij f op kj 
d ju s d h  ; ks X ;r k iz k Ir d j ys r k gS \ 
 

(1) 0 ls 2 o"k Z  

(2) 2 ls 6 o"k Z 

(3) 6 ls 11 o "kZ   

(4) 11 ls 15 o"k Z  

  
19. According to Jean Piaget in which 

stage child is able to understand 

Hypothesis and getting thinking 

ability on the basis of logical 

statement ? 

(1) 0 to 2 years  

(2) 2 to 6 years 

(3) 6 to 11 years  

(4) 11 to 15 years 

20. fu Eu fyf [k r es a ls dkS u &l k eu ks foKk u ek uo 
d s fpU ru] Le ` fr] H k k"k k] iz R;{k hd j. k bR;k fn 
d k  v /; ;u  d jrk  gS \ 

(1) e ku or ko knh eu ks f oK ku   

(2) l a Kku kR ed  eu ks f oK ku 

(3) v l kek U; e uk sf oKku     

(4) u S nk fu d  eu ks fo Kku 

  
20. Which of the following Psychology 

studies about man's thinking, 

memory, language, perception etc. ? 

(1) Humanist Psychology 

(2) Cognitive Psychology 

(3) Abnormal Psychology 

(4) Clinical Psychology 

21. fu Eu fyf [k r esa ls dk S u&lk  O ;fDr Ro d k 
iz d kj Ø s pe j } kjk u ghau ghau ghau gha fn; k x; k gS \  
 

(1) l q MkS y d k; (2) d ykR ed 

(3) y a cd k ; (4) xks y kd k ; 

  
21. Which of the following is not the 

type of personality given by 

Kretschmer ? 

(1) Athletic (2) Aesthetic 

(3) Asthenic (4) Pyknic 

22. th u fi;k ts d s v uq lk j u Sf rd  fo d k l 
v o LF kk ßijk ;Ù k rk v U; ks U; rk Þ d k  v k;q 
le w g D;k  gS \  

(1) 0 ls 5 o"k Z  

(2) 13 ls 18 o"k Z  

(3) 5 ls 8 o"k Z  

(4) 11 ls 13 o"k Z  

  
22. What is the age group for the moral 

development stage "Heteronomy 

Reciprocity" given by Jean Piaget ? 

(1) 0 to 5 years  

(2) 13 to 18 years 

(3) 5 to 8 years  

(4) 11 to 13 years 
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23. fu Eu fyf [k r e s a ls d kS u&l k v f/k xe  v {ke  
c kyd ks a d k y{k .k  u ghau ghau ghau gha  gS \ 
 

(1) iz R;{kh d j. k  izH kk fo rk  

(2) l ka o s fxd  v f LF kjrk  

(3) v O; o fLF kr v o/k ku     

(4) v k os f xr k 

  
23. Which of the following is not the 

characteristic of Learning Disabled 

Children ? 

(1) Perceptual effectiveness 

(2) Emotional instability 

(3) Disorder of attention 

(4) Impulsivity 

24. xaH khj eku fl d  ea nr k ok ys ck yd ksa d h c q f) 
yf C/k D;k  gk sr h gS \ 

(1) 50 ls 60  

(2) 36 ls 51 

(3) 20 ls 35  

(4) 20 ls uh ps 

  
24. What is the I.Q. Range of severe 

mental retarded child ? 

(1) 50 to 60  

(2) 36 to 51 

(3) 20 to 35  

(4) below 20 

25. fo d k l d h  d k S u&lh  voLF k k es a l eku 
fy a fx;k s a d s lkF k  #f p@fe=rk  f od f lr gks r h  
gS \ 

(1) 12 ls 14 o"k Z   

(2) 15 ls 18 o"k Z  

(3) 10 ls 12 o"k Z   

(4) 19 ls 21 o"k Z  

  
25. In which stage of development, 

interest/friendship develops towards 

same sexual groups ? 

(1) 12 to 14 years   

(2) 15 to 18 years 

(3) 10 to 12 years   

(4) 19 to 21 years 

26. fu Eu fyf [k r e sa l s d kSu &l k ;F kkF k Z ok nh 
fp Ur u d k izd kj u ghau ghau ghau gha  gS \ 

(1) v f H klk jh  f pUr u 

(2) l ` tuk Red  fpUr u 

(3) v k yks p ukRed  f pUr u     

(4) Lo yh u fpU ru 

  
26. Which of the following is not the 

type of Realistic thinking ? 

(1) Convergent thinking 

(2) Creative thinking 

(3) Evaluative thinking 

(4) Autistic thinking 
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27. fu Eu fyf [k r es a l s d k Su&lk  e uks o S Kk fud 
^ e ku or ko knh e uks f oK ku* d k le F kZ d  u ghau ghau ghau gha 
gS \ 

(1) Ý k ;M  

(2) e S Lyks 

(3) jks t lZ   

(4) v k F kZ j d kS Ec ~l 

  
27. Out of the following which 

psychologist was not supporter of 

'Humanist Psychology' ? 

(1) Freud  

(2) Maslow 

(3) Rogers  

(4) Arthur Combs 

28. ^ l a jp uko kn* ds iz or Z d  d kSu  F k s \ 
 

(1) f of y; e ts El 

(2) f of y; e os LV 

(3) f oYgs e o q .V     

(4) f oYgs e g. V 

  
28. Who was the propounder of 

'structuralism' ? 

(1) William James 

(2) William West 

(3) Wilhelm Wundt 

(4) Wilhelm Hunt 

29. fu Eu fyf [k r es a ls d kS u&l k r Ù o ^v f Hk izs j. kk 
pØ * ls la ca f /kr u ghau ghau ghau gha  gS \ 
 

(1) v k o'; d rk   

(2) v Ur uk s Z n 

(3) l a os x  

(4) iz ks R lkgu 

  
29. Which of the following component 

is not related with the 'Motivation 

Cycle' ? 

(1) Need  

(2) Drive 

(3) Emotion  

(4) Incentive 

30. ^H k ; d k  la o s x*  fd l ewy iz o ` fÙ k l s tq M +k 
gqv k gS \ 

(1) iz fr d "k Z .k 

(2) ; q ;q R lk 

(3) 'k j. k kxr     

(4) iyk ;u  

  
30. The 'emotion of fear' associated with 

which basic instinct ? 

(1) Repulsion 

(2) Pugnacity 

(3) Appeal 

(4) Escape 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

[ fgUnhfgUnhfgUnhfgUnh / HINDI ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    

31. fdl okD; eas laca/klwpd vO;; dk iz;ksx 
gqvk gS \ 

(1) jk/kk Åij ukprh gSA 

(2) vfurk jk/kk ls e/kqj xkrh gSA 

(3) jke cgqr rst+ py jgk FkkA 

(4) eksgu vktdy T+;knk cksyrk gSA 

32. ^vd* izR;; ;qDr in ughaughaughaugha gS % 

(1) fo/kk;d 

(2) izsjd 

(3) fuand 

(4) yM+kd 

33. fdl fodYi eas fuR; iqafYyax laKk gS \ 

(1) [kjxks'k 

(2) fxygjh 

(3) cVsj 

(4) dks;y 

34. lekl foxzg dh n`f"V ls vuqfprvuqfprvuqfprvuqfpr fodYi 
pqfu, % 

(1) ekr`HkfDr ¾ ekrk ds fy, HkfDr 

(2) okXohj ¾ okd~ ¼ok.kh½ esa ohj 

(3) bfUnz;t; ¾ bfUnz;ksa ds fy, t; 

(4) thon;k ¾ thoksa ij n;k 

35. xyrxyrxyrxyr lekl foxzg pqfu, % 

(1) nwj ds fy, n'kZu ¾ nwjn'kZu 

(2) nwj ls vkxr ¾ nwjkxr 

(3) ikB ds fy, 'kkyk ¾ ikB'kkyk 

(4) lHkk ds fy, e.Mi ¾ lHkke.Mi 

36. uke/kkrq fØ;k ughaughaughaugha gS % 

(1) yfr;kuk 

(2) ltkuk 

(3) >qBykuk 

(4) xfy;kuk 

37. o.kksZPpkj.k dh n`f"V ls csesycsesycsesycsesy pqfu, % 

(1) vks] vkS & daBks"B 

(2) o] Q ð & nUrks"B 

(3) n] /k & rkyq 

(4) B] M & ew/kkZ 

38. fdl fodYi eas ^vuq* milxZ dk iz;ksx ughaughaughaugha 
gqvk gS \ 

(1) vuqLokj 

(2) vuq"kax 

(3) vuqnkj 

(4) vuq'kkfLr 
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39. okrZfud n`f"V ls v'kq)v'kq)v'kq)v'kq) 'kCn pqfu, % 

(1) frjiu 

(2) vtekb'k 

(3) vUR;k{kjh 

(4) fNidyh 

40. vfu'p;okpd loZuke okyk okD; pqfu, % 

(1) eSa dqN iqLrdsa yk;k gw¡] bUgsa rqe j[k 
yksA 

(2) nky eas dqN dkyk gSA 

(3) dsoy ogh rqEgkjh iz'kalk dj ldrk 
gSA 

(4) og pkgrk gS fd rqe lnSo vkxs c<+ksA 

41. ^lq* milxZ&jfgr in pqfu, % 

(1) lq"kqfIr 

(2) LoLFk 

(3) LoYi 

(4) lkS"Bo 

42. fdl 'kCn eas O;atu lfU/k dk iz;ksx gqvk 
gS \ 

(1) okxh'oj 

(2) /kkrw"ek 

(3) v/ke.kZ 

(4) iw.kksZiek 

43. laf/k foPNsn dh n`f"V ls vlaxrvlaxrvlaxrvlaxr pqfu, % 

(1) Qf.k $ bUnz ¾ Q.khUnz 

(2) lq/kh $ bUnz ¾ lq/khUnz 

(3) vfHk $ b"V ¾ vHkh"V 

(4) jtuh $ bZ'k ¾ jtuh'k 

44. ßVgyuk LokLF; ds fy, ykHkdkjh gSAÞ 
okD; eas iz;qDr fØ;k gS % 

(1) izsj.kkFkZd fØ;k 

(2) la;qDr fØ;k 

(3) jatd fØ;k 

(4) fØ;kFkZd laKk 

45. izR;; dh n`f"V ls vlaxrvlaxrvlaxrvlaxr fodYi pqfu, % 

(1) gFk $ vkSM+h ¾ gFkkSM+h 

(2) v.kq $ bd ¾ vk.kfod 

(3) lk¡i $ vksyk ¾ l¡iksyk 

(4) Hkk¡x $ ,M+h ¾ Hk¡xsM+h 
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[ vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH ] 

Direction :  Answer the following questions by selecting the most appropriate option. 

46. Choose the part of the sentence 
which is incorrect : 

His      new film     is really worth 
  a              b                    c 

to be seen. 
       d 

(1) a (2) b 

(3) c (4) d 

47. Select the appropriate modal for the 
expression given : 

When ........ we expect you ? 
(possibility) 

(1) may (2) will 

(3) have to (4) dare 

48. Select the correct option (phrasal 

verb) for the underlined word : 

Most of the patients respect Dr. John 

for his kindness. 

(1) pay back (2) zest for 

(3) make over (4) look up to 

49. Choose the correct meaning of the 
underlined words : 

The baby monkeys ran every which 
way. 

(1) up 

(2) straight 

(3) in different directions 

(4) down 

50. Choose the correct tense form : 

Nanny died last week. She ......... 
from cancer for some time. (suffer) 

(1) suffering 

(2) is suffering 

(3) had been suffering 

(4) suffers 

51. Select the appropriate modal for the 
expression given : 

If you do that again you ........ be 
punished. (threat) 

(1) may 

(2) shall 

(3) can 

(4) ought 

52. Choose the correct option for the 
following : 

An instrument for detecting 
earthquakes is : 

(1) A Fathometer 

(2) Lithoscope 

(3) A Seismograph 

(4) Cardiograph 
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53. Choose the correct meaning of the 
underlined words : 

It's a pity you don’t like football. But 
each to their own. 

(1) everyone has different opinions 

(2) everyone has similar opinions 

(3) each and all are same 

(4) each one likes football 

54. Choose the correct option to fill the 
blank : 

Immediately after the operation he 
could see nothing ......... vague 
shadows. 

(1) as long as 

(2) however 

(3) but 

(4) notwithstanding 

55. Select the correct option (phrasal 

verb) for the underlined word : 

I don't know how we are going to 
cope with the cold during winters. 

(1) make up for 

(2) put up with 

(3) put down 

(4) set up 

56. Select appropriate preposition to fill 
in the blank : 

They walked ........... the footpath 
until they came to a bridge. 

(1) into (2) since 

(3) along (4) in 

57. Choose the correct tense form : 

My car ........ for the third time since 
I got it. (break down) 

(1) break down 

(2) has broken down 

(3) was broke down 

(4) has broken 

58. Choose the part of the sentence 
which is incorrect : 

James      is busy     to prepare  
   a               b              c 

tonight's dinner. 
           d 

(1) a (2) b 

(3) c (4) d 

59. Choose the correct option to fill the 
blank : 

The room was empty ....... for a chair 
in the corner. 

(1) except 

(2) and 

(3) between 

(4) behind 

60. Select appropriate preposition to fill 
in the blank : 

The programme was broadcasted ...... 
the world. 

(1) in (2) off 

(3) onto (4) across 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

[ ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / QUANTITATIVE 

APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    
Direction :  Answer the following questions by selecting the most appropriate option. 

61. ik¡p O;fDr;ksa P, Q, R, S vkSj T esa] T, R 
vkSj S ls NksVk gSA Q, T ftruk yEck 
ugha gS] ysfdu ,d O;fDr ls yEck gSA R 
,d O;fDr ls NksVk gSA buesa ls dkSu lcls 
yEck gS \  

(1) R (2) Q 

(3) S (4) P 

  
61. Among five persons P, Q, R, S and 

T, T is shorter than R and S. Q is not 

as tall as T but taller than one 

person. R is shorter than one person. 

Who among them is the tallest ? 

(1) R (2) Q 

(3) S (4) P 

62. rhu la[;k,¡ 2 : 3 : 4 ds vuqikr esa gSaA 
muds ?kuksa dk ;ksx 33957 gks] rks la[;k,¡ 
gSa % 

(1) 14, 21, 28  

(2) 12, 18, 24 

(3) 8, 12, 16  

(4) 4, 6, 8 

  
62. Three numbers are in the ratio 2 : 3 : 4. 

The sum of their cubes is 33957, 

then the numbers are : 

(1) 14, 21, 28  

(2) 12, 18, 24 

(3) 8, 12, 16  

(4) 4, 6, 8 

63. A, X dk firk gS( B, Y dh ekrk gSA X 
vkSj Z dh cgu Y gSA fuEu esa ls 
dkSu&lk dFku vko';d :i ls lR; ughaughaughaugha 
gS \ 

(1) B, Z dh ekrk gSA 

(2) X, Z dh cgu gSA 

(3) B, A dh iRuh gSA 

(4) Y, A dk iq= gSA 

  
63. A is father of X; B is mother of Y. 

The sister of X and Z is Y. Which of 

the following statement is 

necessarily not true ? 

(1) B is the mother of Z. 

(2) X is the sister of Z. 

(3) B is the wife of A. 

(4) Y is the son of A. 
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64. ,d O;fDr iwoZ dh vksj 1 fdeh pyrk gS] 
fQj og nf{k.k fn'kk esa eqM+dj 5 fdeh 
pyrk gSA fQj og iwoZ fn'kk eas eqM+dj 2 
fdeh pyrk gS] mlds ckn og mÙkj fn'kk 
esa eqM+dj 9 fdeh pyrk gSA vc og 
izkjfEHkd fcUnq ls fdruh nwj [kM+k gS \ 

(1) 4 fdeh  

(2) 5 fdeh 

(3) 7 fdeh  

(4) 9 fdeh 

  
64. A person walks 1 km towards East 

and then he turns to South and walks 

5 km. Again he turns to East and 

walks 2 km, after this he turns to 

North and walks 9 km. Now, how far 

is he from his starting point ? 

(1) 4 km  

(2) 5 km 

(3) 7 km  

(4) 9 km 

65. fuEu o.kZ Js.kh esa vxyk in Kkr dhft, % 
 

DHL, PTX, BFJ, ..... 

(1) CGK  

(2) KOS 

(3) NRV  

(4) OVZ 

  
65. Find the next term of the following 

letter series : 

DHL, PTX, BFJ, ..... 

(1) CGK  

(2) KOS 

(3) NRV  

(4) OVZ 

66. 12 iq#"k ,d dk;Z dks iw.kZ djus eas 18 
fnu ysrs gSa tcfd 12 fL=;k¡ mlh dk;Z ds 

4

3  Hkkx dks 18 fnu eas iw.kZ djrh gSaA mlh 

dk;Z dks 10 iq#"k rFkk 8 fL=;k¡ lkFk&lkFk 
dk;Z djrs gq, fdrus fnuksa eas iw.kZ djsaxs \ 

(1) 6  

(2) 7
2

1  

(3) 13
2

1
  

(4) 14 

  
66. 12 men take 18 days to complete a 

job whereas 12 women in 18 days 

can complete 
4

3
 part of the same job. 

How many days will 10 men and 8 
women together take to complete the 
same job ? 

(1) 6  

(2) 7
2

1  

(3) 13
2

1
  

(4) 14 
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67. ,d xksys dh f=T;k ds nqxquh gksus ij mlds 
vk;ru esa fdrus izfr'kr o`f) gksxh \ 
 

(1) 200% (2) 450% 

(3) 550% (4) 700% 

  
67. The radius of a sphere is doubled. 

What percent of its volume is 

increased ? 

(1) 200% (2) 450% 

(3) 550% (4) 700% 

68. ,d O;kikjh ,d oLrq dks ` 24 esa csprk gS 
rFkk oLrq ds ewY; ds cjkcj izfr'kr ykHk 
dekrk gS] rks oLrq dk ykxr ewY; gS % 
 

(1) ` 15 (2) ` 17 

(3) ` 18 (4) ` 20 

  
68. A dealer sells an article for ` 24 and 

gains as much percent as the price of 

the article, then the cost price of the 

article is : 

(1) ` 15 (2) ` 17 

(3) ` 18 (4) ` 20 

69. 15 O;fDr;ksa ds ,d lewg eas] 7 fgUnh 
i<+rs gSa] 8 vaxzsth i<+rs gSa vkSj 3 dksbZ Hkh 
Hkk"kk ugha i<+rs gSaA fdrus O;fDr fgUnh 
vkSj vaxzsth nksukas i<+rs gSa \ 

(1) 0 (2) 3 

(3) 4 (4) 5 

  
69. In a group of 15 people, 7 read 

Hindi, 8 read English and 3 read 

none of these language. How many 

people read Hindi and English both ? 

(1) 0 (2) 3 

(3) 4 (4) 5 

70. ;fn p rFkk q ifjes; la[;k,¡ gSa rFkk 

,5
53

53
qp +=

−

+  rks p rFkk q ds 

eku gSa % 

(1) 
2

3
;

7

2
== qp   

(2) 
7

2
;

2

7
== qp  

(3) 
2

3
;

2

7
== qp   

(4) 
2

7
;

2

7
== qp  

  
70. If p and q are rational numbers and 

,5
53

53
qp +=

−

+
 then value of p 

and q are : 

(1) 
2

3
;

7

2
== qp   

(2) 
7

2
;

2

7
== qp  

(3) 
2

3
;

2

7
== qp   

(4) 
2

7
;

2

7
== qp  
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71. ;fn ,d fuf'pr jkf'k dk 3% izfro"kZ C;kt 
nj ls nks o"kks± dk pØo`f) C;kt 
` 101.50 gks] rks mlh jkf'k dk leku 
le; ds fy, ljy C;kt fdruk gksxk \ 

(1) ` 50 (2) ` 100 

(3) ` 125 (4) ` 147 

  
71. If the compound interest on a certain 

sum for two years at 3% p.a. be 
` 101.50, then what would be the 
simple interest on the same sum for 
same period ? 

(1) ` 50 (2) ` 100 
(3) ` 125 (4) ` 147 

72. fuEu o.kZ Js.kh eas yqIryqIryqIryqIr in Kkr dhft, % 
 

A, CD, GHI, ? , UVWXY 

(1) LMNO  

(2) MNO 

(3) MNOP  

(4) NOPQ 

  
72. Find the missing term of the 

following letter series : 

A, CD, GHI, ? , UVWXY 

(1) LMNO  

(2) MNO 

(3) MNOP  

(4) NOPQ 

73. ,d prqHkqZt dk ,d dks.k 108° rFkk 'ks"k 
rhuksa dks.k cjkcj gSaA rhu cjkcj dks.kksa eas 
izR;sd dk eku Kkr dhft, % 
 

(1) 63° (2) 74° 

(3) 84° (4) 96° 

  73. One angle of a quadrilateral is 108° 

and the remaining three angles are 

equal. Find each of the three equal 

angles : 

(1) 63° (2) 74° 

(3) 84° (4) 96° 

74. vfer] izdk'k ds if'pe esa gS vkSj lqfer 
ds mÙkj esa gSA r#.k] lqfer ds iwoZ dh 
vksj gSA r#.k] vfer ds lanHkZ ls fdl 
fn'kk esa gS \ 

(1) mÙkj-if'pe 

(2) nf{k.k 

(3) nf{k.k-iwoZ 

(4) mÙkj 

  
74. Amit is west to Prakash and North to 

Sumit. Tarun is in East of Sumit. 

Tarun is in which direction with 

reference to Amit ? 

(1) North-West 

(2) South 

(3) South-East 

(4) North 
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75. ;fn DRIVER = 12, PEDESTRIAN = 

20, ACCIDENT = 16, rks CAR = ? 

(1) 3 (2) 6 

(3) 8 (4) 16 

  
75. If DRIVER = 12, PEDESTRIAN = 

20, ACCIDENT = 16, then CAR = ? 

(1) 3 (2) 6 

(3) 8 (4) 16 

76. fuEu Js.kh esa xyrxyrxyrxyr la[;k Kkr dhft, % 
 

69, 55, 26, 13, 5 

(1) 5  

(2) 13 

(3) 26  

(4) 55 

  
76. Find the wrong number in the 

following series : 

69, 55, 26, 13, 5 

(1) 5  

(2) 13 

(3) 26  

(4) 55 

77. ;fn 2
x
 = 4

y
 = 8

z
 rFkk 

,4
4

1

4

1

2

1
=++

zyx
 rks x dk eku gS % 

(1) 
16

7
  

(2) 
17

7  

(3) 
19

7
  

(4) 
23

7  

  
77. If 2x

 = 4
y
 = 8

z
 and ,4

4

1

4

1

2

1
=++

zyx
 

then the value of x is : 

(1) 
16

7
  

(2) 
17

7  

(3) 
19

7
  

(4) 
23

7  

78. 80 fdeh ;k=k eas ,d jsyxkM+h izFke 60 
fdeh] 40 fdeh izfr ?kaVk rFkk 'ks"k nwjh 20 
fdeh izfr ?kaVk dh xfr ls pyrh gSA lEiw.kZ 
;k=k dh vkSlr pky gS % 
(1) 24 fdeh izfr ?kaVk  
(2) 30 fdeh izfr ?kaVk 
(3) 32 fdeh izfr ?kaVk  
(4) 36 fdeh izfr ?kaVk 

  
78. In a journey of 80 kms a train covers the 

first 60 kms at 40 km/hr. and the 

remaining distance at 20 km/hr. The 

average speed for the whole journey is : 

(1) 24 km/hr.  

(2) 30 km/hr. 
(3) 32 km/hr.  

(4) 36 km/hr. 
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79. 30 eh yEcs rj.krky ds ,d fljs ij ikuh 
dh xgjkbZ 0.80 eh rFkk nwljs fljs ij 
2.4 eh gSA rj.krky dh yEckbZ ds vuqfn'k 
Å/okZ/kj dkV ifjPNsn dk {ks=Qy gS % 
 

(1) 48 eh2  

(2) 72 eh2 

(3) 156 eh2  

(4) 192 eh2 

  
79. A swimming pool, 30 m long has a 

depth of water 0.80 m at one end and 

2.4 m at the other end. The area of 

the vertical cross-section of the pool 

along the length is : 

(1) 48 m
2  

(2) 72 m
2
 

(3) 156 m
2  

(4) 192 m
2 

80. ,d iafDr eas vfuy ck;sa Nksj ls 16osa 
LFkku ij [kM+k gSA fodkl nk;sa Nksj ls 
18osa LFkku ij gSA xksiky vfuy ls nk;ha 
vksj 11osa LFkku ij gS] vkSj fodkl ls 
nk;ha Nksj dh vksj rhljs LFkku ij gSA bl 
iafDr eas fdrus O;fDr [kM+s gq, gSa \ 
 

(1) 41 (2) 42 

(3) 48 (4) 49 

  
80. Anil is standing at 16th position 

from the left end in a row. Vikas is at 

18th position from the right end. 

Gopal is 11th from Anil towards the 

right and 3rd from Vikas towards the 

right end. How many persons are 

standing in this row ? 

(1) 41 (2) 42 

(3) 48 (4) 49 

81. fuEufyf[kr esa ls gkQsM (HAFED) ds 
ckjs eas dkSu&lk lghlghlghlgh gS \ 

(i) ;g Ñf"k mRiknkas dk laxzg djrk gSA 

(ii) ;g Ñf"k mRiknkas dk foi.ku djrk gSA 

(iii) ;g Ñf"k vknkuksa dh iwfrZ djrk gSA 

lghlghlghlgh dwV dk p;u dhft, % 

(1) (i) vkSj (ii) 

(2) dsoy (i) 

(3) (i) vkSj (iii) 

(4) (i), (ii) vkSj (iii) 

  
81. Which of the following are true 

about the functions of HAFED ? 

(i) It procures agriculture products. 

(ii) It markets agriculture products. 

(iii) It supplies agriculture inputs. 

Choose the correct code : 

(1) (i) and (ii) 

(2) only (i) 

(3) (i) and (iii) 

(4) (i), (ii) and (iii) 
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82. gfj;k.kk esa dgk¡ ^uxj&ou* fodflr fd;k 
tk jgk gS \ 
(1) eqjFky (2) lksguk 
(3) ;equkuxj (4) gk¡lh 

  
82. Where in Haryana 'City-forest' is 

being developed ? 

(1) Murthal (2) Sohna 
(3) Yamunanagar (4) Hansi 

83. ^,;j 'kVy lsok* dh 'kq#vkr gfj;k.kk ds 
fdl 'kgj esa dh xbZ gS \ 
(1) fglkj (2) djuky 
(3) jksgrd (4) vEckyk 

  
83. 'Air Shuttle Service' has been started 

from which city of Haryana ? 

(1) Hisar (2) Karnal 
(3) Rohtak (4) Ambala 

84. ^gfj;k.kk lkfgR; vdkneh* ds v/;{k gSa % 
(1) MkW0 dqeqn caly 

(2) Jh euksgj yky 
(3) MkW0 v'kksd c=k 
(4) Jh jk.kk vkscjk; 

  
84. The President of 'Haryana Sahitya 

Academy' is : 
(1) Dr. Kumud Bansal 
(2) Sh. Manohar Lal 
(3) Dr. Ashok Batra 
(4) Sh. Rana Oberoi 

85. feUVh vxzoky ds ckjs esa fuEukafdr dFkuksa 
ij fopkj dhft, % 
¼v½ gfj;k.kk dh ewy fuoklh feUVh vxzoky 

Hkkjrh; ok;q lsuk eas LDokMªu yhMj 
gSaA 

¼c½ og ;q) lsok esMy izkIr djus okyh 
igyh efgyk gSaA 

lghlghlghlgh mÙkj pqus % 
(1) dFku ¼v½ lgh gS 
(2) dFku ¼c½ lgh gS 
(3) ¼v½ vkSj ¼c½ nksuksa xyr gSa 
(4) ¼v½ vkSj ¼c½ nksuksa lgh gSa 

  
85. Consider the following statements 

about Minty Agarwal : 

(a) Minty Agarwal, a native of 

Haryana, is a Squadron Leader 

in Indian Air Force. 

(b) She is the first woman, who 

received Yudha Seva Medal. 

Choose the correct answer : 

(1) Statement (a) is true 

(2) Statement (b) is true 

(3) Both (a) and (b) are false 

(4) Both (a) and (b) are true 

86. izkphu Hkokuh vack ekrk efUnj vofLFkr 
gS % 

(1) than esa (2) vEckyk esa 

(3) lksuhir esa (4) dq#{ks= eas 

  
86. Ancient Bhawani Amba Mata temple 

is situated in : 

(1) Jind (2) Ambala 

(3) Sonipat (4) Kurukshetra 
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87. tuojh 2020 eas] v/kksfyf[kr eas ls 
dkSu&lh uxjikfydk dks uxj ifj"kn ds 
Lrj ij ØeksUur fd;k x;k \ 
 
(1) jfu;k (2) >Ttj 
(3) csjh (4) fljlh 

  
87. In January 2020, which of the 

following Nagar Palika was raised to 

the status of Nagar Parishad 

(Municipal Council) ? 

(1) Rania (2) Jhajjar 
(3) Beri (4) Sirsi 

88. 1857 ds fonzksg ds le; >Ttj dk uokc 
dkSu Fkk \ 

(1) vCnqjZgeku [kk¡ 

(2) uokc 'kelqíhu 

(3) ln#íhu 

(4) fclkjr vyh 

  
88. Who was the Nawab of Jhajjar 

during the uprising of 1857 ? 

(1) Abd-ur Rahman Khan 

(2) Nawab Shamsuddin 

(3) Sadruddin 

(4) Bisarat Ali 

89. v'kksd ds Vksijk vfHkys[k dk ewy izkfIr 
LFkku vofLFkr gS % 
 

(1) vEckyk ftys eas 

(2) ;equkuxj ftys eas 

(3) dq#{ks= ftys eas 

(4) dSFky ftys eas 

  
89. The original founding place of 

Topara Inscription of Ashoka is 

located in : 

(1) Ambala district 

(2) Yamunanagar district 

(3) Kurukshetra district 

(4) Kaithal district 

90. egsUnzx<+ ftys ls cgus okyh ufn;ksa dks 
igpkfu;s % 

(i) vacqefr (ii) nksgu 

(iii) dlkoVh (iv) bUnkSjh 

lghlghlghlgh dwV dk p;u dhft, % 
(1) (i) vkSj (iii) 

(2) (ii) vkSj (iii) 

(3) (i), (iii) vkSj (iv) 

(4) (i), (ii), (iii) vkSj (iv) 

  
90. Identify the rivers, which flows from 

Mahendragarh district : 

(i) Ambumati (ii) Dohan 

(iii) Kasavati (iv) Indori 

Choose the correct code : 

(1) (i) and (iii) 

(2) (ii) and (iii) 

(3) (i), (iii) and (iv) 

(4) (i), (ii), (iii) and (iv) 
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jQ dk;Z dsjQ dk;Z dsjQ dk;Z dsjQ dk;Z ds    fy, txgfy, txgfy, txgfy, txg/SPACE FOR ROUGH WORK 

Level-2/8110  P. T. O. 

HkkxHkkxHkkxHkkx – IV / PART – IV 

xf.krxf.krxf.krxf.kr / MATHEMATICS 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    
Direction :  Answer the following questions by selecting the most appropriate option. 

91. 14 ehVj Å¡pkbZ okys o`Ùkkdkj csyu ds 
vk/kkj dh f=T;k 3 ehVj gSA csyu dk 
lEiw.kZ i`"Bh; {ks=Qy gS % 
 

(1) 302.75 oxZ ehVj 

(2) 203.57 oxZ ehVj  

(3) 320.57 oxZ ehVj  

(4) 230.75 oxZ ehVj  

  91. The total surface area of a circular 
cylinder which has a height of 14 
metres and a base of radius 3 metres,   
is : 

(1) 302.75 sq. metre 

(2) 203.57 sq. metre 

(3) 320.57 sq. metre 

(4) 230.75 sq. metre 

92. ,d ledks.kh; lef}ckgq f=Hkqt ds d.kZ dh 
yEckbZ D;k gksxh] ;fn ,d Hkqtk 24  
lseh gS \ 

(1) 12 lseh 

(2) 8 lseh  

(3) 28  lseh 

(4) 212  lseh  

  
92. The length of the hypotenuse of an 

isosceles right angled triangle, 

whose one side is 24  cm, is : 

(1) 12 cm 

(2) 8 cm  

(3) 28  cm 

(4) 212  cm 
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93. 20 lseh O;kl okys o`Ùk ds dsUæ dh      
16 lseh yEckbZ okyh thok ls nwjh gS % 
 

(1) 2 lseh (2) 4 lseh 

(3) 6 lseh (4) 8 lseh 

  
93. The distance of the chord of length 

16 cm from the centre of the circle of 

diameter 20 cm is : 

(1) 2 cm (2) 4 cm 

(3) 6 cm (4) 8 cm 

94. ,d lhls ds o`Ùkkdkj csyu dh Å¡pkbZ         
28 lseh rFkk vk/kkj dh f=T;k 6 lseh gSA 
blls 1.5 lseh O;kl dh fdruh xksfy;k¡ 
cukbZ tk ldrh gSa \ 

(1) 1279 (2) 1792 

(3) 2179 (4) 2772 

  
94. How many bullets can be made out 

of a lead circular cylinder 28 cm 

high and 6 cm radius, each bullet 

being 1.5 cm in diameter ? 

(1) 1279 (2) 1792 

(3) 2179 (4) 2772 

95. çR;sd Hkqtk 12 lseh okys leckgq f=Hkqt dh 
Å¡pkbZ gS % 

(1) 66  lseh 

(2) 63  lseh 

(3) 36  lseh 

(4) 26  lseh 

  
95. The height of an equilateral triangle 

having each side 12 cm is : 

(1) 66  cm 

(2) 63  cm  

(3) 36  cm 

(4) 26  cm 
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96. tan 1° tan 2° tan 3° …. tan 89° dk 
eku gS % 
(1) 1 (2) −1 

(3) 0 (4) 
2

1  

  
96. The value of tan 1° tan 2° tan 3° …. 

tan 89° is : 
(1) 1 (2) −1 

(3) 0 (4) 
2

1  

97. nks la[;kvksa ds y?kqÙke rFkk egÙke 
lekioR;ksZa dk ;ksx rFkk vUrj Øe'k% 592 

rFkk 518 gSA ;fn la[;kvksa dk ;ksx 296 gks] 
rks la[;k,¡ gSa % 
 
(1) 107 rFkk 111 

(2) 111 rFkk 158 
(3) 111 rFkk 185 
(4) 158 rFkk 167 

  
97. The sum and difference of the LCM 

and HCF of two numbers are 592 

and 518 respectively. If the sum of 

the numbers be 296, then the 

numbers are : 
(1) 107 and 111 

(2) 111 and 158 
(3) 111 and 185 
(4) 158 and 167 

98. ;fn ,d f}?kkrh; cgqin )1(2
++ ax        

x + b ds 'kwU;d −2 rFkk 3 gksa] rks % 
 
(1) a = 2; b = 6 
(2) a = −2; b = −6 
(3) a = −2; b = 6 
(4) a = 2; b = −6 

  
98. If −2 and 3 are the zeroes of the 

quadratic polynomial )1(2
++ ax         

x + b, then : 
(1) a = 2; b = 6 
(2) a = −2; b = −6 
(3) a = −2; b = 6 
(4) a = 2; b = −6 
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99. ljy js[kk x + 3y = 7 esa fcUnq (3, 8) dk 
çfrfcac gS % 

(1) (1, 4) (2) (4, 1) 

(3) (−4, −1) (4) (−1, −4) 

  
99. The image of the point (3, 8) in the 

line x + 3y = 7 is : 

(1) (1, 4) (2) (4, 1) 

(3) (−4, −1) (4) (−1, −4) 

100. ,d xksy est ds pkjksa vksj 10 O;fDr cSBs 
gSaA nks fo'ks"k O;fDr;ksa ds ,d lkFk cSBus 
dh çkf;drk gS % 

(1) 
5

1
 (2) 

9

2  

(3) 
7

3
 (4) 

9

4  

  
100. 10 persons are seated at a round 

table. The probability that two 
particular persons sit together is : 

(1) 
5

1
 (2) 

9

2  

(3) 
7

3
 (4) 

9

4  

101. ^^vadxf.kr esa ewyHkwr çfØ;kvksa ds fy, 
funkukRed ijh{k.k** fodflr fd;k x;k  
Fkk % 

(1) th0 ,e0 #p ,oa vU; }kjk  

(2) fy;ks ts0 czqduj }kjk 

(3) ÝsM ts0 LdkSusy ,oa ,Q0 ,sfyukSj 
LdkSusy }kjk  

(4) th0 Vh0 cqlosy ,oa ysuksj tkWu }kjk 

  
101. "Diagnostic test for fundamental 

process in arithmetic" was developed 
by : 

(1) G. M. Ruch and others  

(2) Leo J. Brueckner 

(3) Fred J. Schonell and F. Eleanor 
Schonell  

(4) G. T. Buswell and Lenore John 
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102. ,d lkaf[;dh; eki tks ys[kkfp= ls Kkr 
ughaughaughaugha  dh tk ldrh gS] dgykrh gS % 

(1) cgqyd 

(2) ek/; 

(3) ekf/;dk 

(4) gjkRed ek/; 

  
102. A statistical measure which can not 

be determine graphically is : 

(1) Mode 

(2) Mean 

(3) Median 

(4) Harmonic Mean 

103. fdlh f=Hkqt ABC esa] ;fn 3∠A = 4∠B 

= 6∠C gks] rks ∠A cjkcj gS % 

(1) 80° (2) 60° 

(3) 40° (4) 30° 

  
103. In ∆ABC, if 3∠A = 4∠B = 6∠C, 

then ∠A  is equal to : 

(1) 80° (2) 60° 

(3) 40° (4) 30° 

104. ^^vKkr ls Kkr dh vksj** fdl f'k{k.k 
fof/k;ksa esa ç;qDr gksrk gS \ 

(1) çn'kZu fof/k 

(2) ç;ksx fof/k 

(3) la'ys"k.k fof/k 

(4) fo'ys"k.k fof/k 

  
104. "Unknown to known" is used for 

which teaching method ? 

(1) Demonstrative method 

(2) Experiment method 

(3) Synthetic method 

(4) Analytical method 
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105. 23 rFkk 100 ds e/; 6 ls iw.kZr% foHkkftr 
gksus okyh çkÑr la[;k,¡ fdruh gSa \ 
 
(1) 11 (2) 12 
(3) 13 (4) 14 

  
105. How many natural numbers are there 

between 23 and 100 which are 
exactly divisible by 6 ? 
(1) 11 (2) 12 
(3) 13 (4) 14 

106. 12 Hkqtkvksa okys cgqHkqt ds fod.kks± dh 
la[;k gS % 

(1) 48 (2) 54 

(3) 64 (4) 66 

  
106. The number of diagonals of a 

polygon having 12 sides is : 

(1) 48 (2) 54 

(3) 64 (4) 66    

107. ,d O;fDr nks ?kksM+s ` 1,350 esa [kjhnrk gSA 
og ,d ?kksM+s dks 6% gkfu ls rFkk vU; dks 
7.5% ykHk ls csprk gSA bu lkSnksa esa mls 
u rks ykHk vkSj u gh gkfu gksrh gSA çR;sd 
?kksM+s dk ewY; gS % 

(1) ` 570; ` 600 

(2) ` 750; ` 606 

(3) ` 705; ` 660 

(4) ` 750; ` 600 

  
107. A man buys two horses for ` 1,350. 

He sells one so as to loss 6% and the 

others so as to gain 7.5%. On the 

whole he neither gains nor losses. 

The cost of each horse is : 

(1) ` 570; ` 600 

(2) ` 750; ` 606 

(3) ` 705; ` 660 

(4) ` 750; ` 600 
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108. la[;k 
1250

14753  dk n'keyo çlkj lekIr 

gksxk % 
(1) ,d n'keyo LFkku i'pkr~ 
(2) nks n'keyo LFkku i'pkr~ 
(3) rhu n'keyo LFkku i'pkr~ 
(4) pkj n'keyo LFkku i'pkr~ 

  108. The decimal expansion of the 

number 
1250

14753
 will terminate after : 

(1) one decimal place 

(2) two decimal places 

(3) three decimal places 

(4) four decimal places 

109. ;fn ?ku ds ,d Qyd dk {ks=Qy] mlh 
Qyd ds ifjeki dk 1.5 xquk ¼eku esa½ gS] 
rks ?ku dk vk;ru cjkcj gS % 
 

(1) 125 bdkbZ (2) 144 bdkbZ  

(3) 216 bdkbZ  (4) 312 bdkbZ  

  
109. If the area of one face of the cube is 

1.5 times of the perimeter (in value) 

of the same face, then volume of the 

cube is : 

(1) 125 units (2) 144 units 

(3) 216 units (4) 312 units 

110. lekUrj js[kkvksa y = 2x + 4 rFkk              
6x = 3y + 5 ds e/; dh nwjh gS % 

(1) 1 bdkbZ (2) 
15

517
 bdkbZ 

(3) 
5

3
 bdkbZ (4) 

5

17
 bdkbZ 

  
110. The distance between the parallel 

lines y = 2x + 4 and 6x = 3y + 5 is : 

(1) 1 unit (2) 
15

517
 unit  

(3) 
5

3
 unit  (4) 

5

17
 unit  
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111. ;fn  ∆ABC, A ij ledks.k gS] rks tan B 

× tan C dk eku gS % 

(1) −1 (2) 0 

(3) 1 (4) ∞ 

  
111. If  ∆ABC is a right angled at A, then 

value of tan B × tan C is : 

(1) −1 (2) 0 

(3) 1 (4) ∞ 

112. Hkqtk 13 lseh rFkk ,d fod.kZ 10 lseh okys 
leprqHkqZt dk {ks=Qy gS % 

(1) 100 lseh
2  

(2) 105 lseh
2
 

(3) 110 lseh
2  

(4) 120 lseh
2
 

  
112. The area of a rhombus with side 13 cm 

and one diagonal 10 cm will be : 

(1) 100 2cm   

(2) 105 2cm  

(3) 110 2cm   

(4) 120 2cm  

113. ;fn fcUnq (a, 0), (0, b) rFkk (1, 1) lajs[k 

gSa] rks =






 +

ab

ba  

(1) −1 
(2) 2  
(3) 1 
(4) 2 

  
113. If points (a, 0), (0, b) and (1, 1) are 

collinear, then =






 +

ab

ba  

(1) −1 
(2) 2  
(3) 1 
(4) 2 

www.cclchapter.com



 [ 31 ] [ A ] 

jQ dk;Z dsjQ dk;Z dsjQ dk;Z dsjQ dk;Z ds    fy, txgfy, txgfy, txgfy, txg/SPACE FOR ROUGH WORK 

Level-2/8110  P. T. O. 

114. fuEu esa ls dkSu-lk vfHkØfer vuqns'ku dk 
fl)kUr ughaughaughaugha  gS \ 
(1) y?kq in dk fl)kUr  
(2) Lo&xfr dk fl)kUr 
(3) rRdky çfriqf"V dk fl)kUr 
(4) vewrZrk dk fl)kUr 

  114. Out of the following which is not the 

principle of programmed instruction ? 
(1) Principles of small steps 

(2) Principles of self-pacing 
(3) Principles of immediate feedback 

(4) Principles of abstractions 

115. ;fn θθ
42 sincos +=A  gS] rks θ ds 

lHkh ekuksa ds fy, % 

(1) 
4

3
 ≤ A ≤ 1  

(2) 
4

3
 ≤ A ≤ 

16

13  

(3) 1 ≤ A ≤ 2  

(4) 
16

13
 ≤ A ≤ 1 

  
115. If ,sincos 42

θθ+=A  then for all 
values of θ is : 

(1) 
4

3
 ≤ A ≤ 1  

(2) 
4

3
 ≤ A ≤ 

16

13  

(3) 1 ≤ A ≤ 2  

(4) 
16

13
 ≤ A ≤ 1 

116. ,d ?kukHk dh yEckbZ] pkSM+kbZ vkSj xgjkbZ 
dk ;ksx s gS rFkk bldk fod.kZ d gSA 
bldk lEiw.kZ i`"Bh; {ks=Qy gS % 
(1) 2

s  oxZ bdkbZ 
(2) )( 22

ds +  oxZ bdkbZ 
(3) 2

d  oxZ bdkbZ 
(4) )( 22

ds −  oxZ bdkbZ 

  
116. Sum of the length, width and depth 

of a cuboid is s and its diagonal is d. 

Its total surface area is : 
(1) 2

s  sq. unit 
(2) )( 22

ds +  sq. unit 
(3) 2

d  sq. unit 
(4) )( 22

ds −  sq. unit 
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117. fcUnq (−2, −3) rFkk (3, 7) dks feykus okys 

js[kk[k.M dks y-v{k fdl vuqikr esa 

foHkkftr djrk gS \ 

(1) (2 : 3)  

(2) (3 : 0) 

(3) (−2 : 3) 

(4) (6 : 0) 

  117. In what ratio is the line segment 

joining the point (−2, −3) and (3, 7) 

divided by y-axis ? 

(1) (2 : 3)  

(2) (3 : 0) 

(3) (−2 : 3) 

(4) (6 : 0) 

118. 15 ehVj Å¡ph ehukj ds mPpre 'kh"kZ ls 
,d fctyh ds [kEHks ds fuEure fcUnq ¼isans½ 
ls 60° dk mUu;u dks.k curk gS rFkk 
[kEHks ds mPpre 'kh"kZ ls 30° dk mUu;u 
dks.k curk gS] rks fctyh ds [kEHks dh 
Å¡pkbZ gS % 

(1) 8 eh0 

(2) 9 eh0 

(3) 10 eh0 

(4) 12 eh0 

  
118. The top of a 15 metre high tower 

makes an angle of elevation of 60° 

with the bottom of an electric pole 

and an angle of elevation of 30° with 

the top of the pole, then height of the 

electric pole is :  

(1) 8 m 

(2) 9 m 

(3) 10 m 

(4) 12 m 
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119. 
ca

a

cbc

c

bab

b

a

x

x

x

x

x

x

111














×














×














 = 

(1) 1 (2) 0 

(3) abc
x  (4) abc 

  

119. 
ca

a

cbc

c

bab

b

a

x

x

x

x

x

x

111














×














×














 = 

(1) 1 (2) 0 

(3) abc
x  (4) abc 

120. lehdj.k 02 22
=++ HyBxyAx  }kjk 

çnf'kZr ljy js[kk,¡ yEcor gksrh gSa] ;fn % 
 

(1) AH = −1 

(2) A + B = 0 

(3) B + H = 0 

(4) A + H = 0 

  120. The lines represented by the 
equation 02 22

=++ HyBxyAx  are 
perpendicular, if : 

(1) AH = −1 

(2) A + B = 0 

(3) B + H = 0 

(4) A + H = 0 

121. la[;k 22541 esa ls ,d U;wure la[;k 
?kVkus ij vUrj iw.kZ oxZ gks] rks og la[;k 
gS % 

(1) 17 

(2) 21 

(3) 31 

(4) 41 

  
121. What is the least number which is 

subtracted from 22541, the 
difference may be a perfect square ? 

(1) 17 

(2) 21 

(3) 31 

(4) 41 

www.cclchapter.com



[ A ] [ 34 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-2/8110   

122. 52 iÙkksa dh xM~Mh esa ls 2 iÙks ;kn`fPNd 
:i ls [khaps tkrs gSaA nks iÙkksa ds ;k rks 
dkys ;k csxe gksus dh çkf;drk gS % 
 

(1) 
1326

325
 (2) 

1326

6  

(3) 
1326

330
 (4) 

1326

5  

  
122. Two cards are drawn at random from 

a pack of 52 cards. The probability 
that either both are black or both are 
queen is : 

(1) 
1326

325
 (2) 

1326

6  

(3) 
1326

330
 (4) 

1326

5  

123. çlj.k esa ifjorZu LorU= gksrk gS % 

(1) dsoy eki ls 

(2) dsoy ewyfcUnq ls 

(3) ewyfcUnq rFkk eki nksuksa ls 

(4) u gh ewyfcUnq esa rFkk u gh eki ls 

  
123. Variance is independent of change of : 

(1) Scale only 

(2) Origin only 

(3) Origin and scale both 

(4) Not in origin and not in scale 

124. ,d la[;k dks 114 ls foHkkftr djus ij 
'ks"kQy 21 vkrk gSA ;fn blh la[;k dks 
19 ls foHkkftr fd;k tk,] rks 'ks"kQy gS % 
 

(1) 0 (2) 1 

(3) 2 (4) 5 

  
124. A number when divided by 114, 

leaves remainder 21. If the same 
number is divided by 19, then the 
remainder is : 

(1) 0 (2) 1 

(3) 2 (4) 5 
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 [ 35 ] [ A ] 

jQ dk;Z dsjQ dk;Z dsjQ dk;Z dsjQ dk;Z ds    fy, txgfy, txgfy, txgfy, txg/SPACE FOR ROUGH WORK 

Level-2/8110  P. T. O. 

125. ,d oxZ ds fod.kZ dh yEckbZ 'a' lseh gS] 
rks oxZ dk {ks=Qy gS % 

(1) 2a lseh
2
  

(2) 
2

a
 lseh

2
 

(3) 
4

2
a

 lseh
2 

(4) 
2

2
a lseh

2
 

  
125. The diagonal of a square is 'a' cm, 

then the area of the square is : 

(1) 2a cm
2
  

(2) 
2

a
 cm

2
 

(3) 
4

2
a

 cm
2 

(4) 
2

2
a

 cm
2
 

126. ;fn ,d o`Ùk dh f=T;k esa 20% dh o`f) 

dh tk,] rks blds {ks=Qy esa o`f) gksxh % 

 

(1) 22%  

(2) 33% 

(3) 44%  

(4) 55% 

  
126. If the radius of a circle is increased 

by 20%, then by how much will its 

area be increased ? 

(1) 22%  

(2) 33% 

(3) 44%  

(4) 55%    
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[ A ] [ 36 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-2/8110   

127. ,d vk;r dk ifjeki 82 m gS rFkk bldk 
{ks=Qy 400 2m  gS] vk;r dh pkSM+kbZ gS % 
 
(1) 4 eh0 
(2) 8 eh0 
(3) 12 eh0 
(4) 16 eh0 

  
127. The perimeter of a rectangle is 82 m 

and its area is 400 2m . The breadth 

of the rectangle is : 
(1) 4 m 
(2) 8 m 
(3) 12 m  
(4) 16 m 

128. ,d lefer vko`fÙk caVu ds fy, % 
 
(1) ek/; > cgqyd > ekf/;dk 
(2) ek/; < cgqyd < ekf/;dk 
(3) ek/; = cgqyd = ekf/;dk 

(4) cgqyd = 
2

1
 ¼ek/; + ekf/;dk½ 

  
128. For a symmetrical frequency 

distribution we have : 

(1) mean > mode > median 
(2) mean < mode < median 
(3) mean = mode = median 

(4) mode = 
2

1
 (mean + median) 

129. lehdj.kksa y = 0 rFkk y = 5 ds ;qXe ds gy 
gSa % 

(1) ,d gy 

(2) nks  gy 

(3) dksbZ gy ugha  

(4) vuUr :i ls dbZ gy 

  
129. The pair of equation y = 0 and y = 5 

has solutions : 

(1) one solution 

(2) two solution 

(3) no solution 

(4) infinitely many solutions 
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 [ 37 ] [ A ] 

jQ dk;Z dsjQ dk;Z dsjQ dk;Z dsjQ dk;Z ds    fy, txgfy, txgfy, txgfy, txg/SPACE FOR ROUGH WORK 

Level-2/8110  P. T. O. 

130. x rFkk y nks /kukRed iw.kk±dksa esa x dk 
U;wure vHkkT; [k.M 3 rFkk y dk 5 gS] rks 
(x + y) dk U;wure vHkkT; [k.M gS %  
 
 
(1) 1 (2) 11 
(3) 7 (4) 2 

  
130. x and y are two positive integers 

such that the least prime factor of x 

is 3 and the least prime factor of y is 5, 
then the least prime factor of (x + y) 
is :  
(1) 1 (2) 11 
(3) 7 (4) 2 

131. prqFkZd fopyu ds xq.kkad dh x.kuk djus 
dk lw= gS % 

(1) 
13

13

QQ

QQ

+

−
 (2) 

4
13 QQ +  

(3) 
4

21 QQ +
 (4) 

12

12

QQ

QQ

−

+  

  
131. The formula to calculate the 

coefficient of quartile deviation is : 

(1) 
13

13

QQ

QQ

+

−
 (2) 

4
13 QQ +  

(3) 
4

21 QQ +
 (4) 

12

12

QQ

QQ

−

+  

132. nks la[;k,¡] ,d rhljh la[;k ls Øe'k% 
30% rFkk 40% de gSaA f}rh; la[;k 
çFke la[;k dh fdrus çfr'kr gS \ 
 

(1) 85
7

5
% (2) 86

5

2
% 

(3) 58
7

5
% (4) 59

4

3
% 

  
132. Two numbers are respectively 30% 

and 40% less than a third number. 
What percent is the second of the 
first ? 

(1) 85
7

5
% (2) 86

5

2
% 

(3) 58
7

5
% (4) 59

4

3
% 
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[ A ] [ 38 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-2/8110   

133. 15 ehVj yEcs ,d dejs dh lEiw.kZ Q'kZ 

dks 15 lseh × 12 lseh dh Vkbyksa ls 

<dus ds fy, 7500 Vkbyksa dh vko';drk 

gS] rks dejs dh pkSM+kbZ gS %  

(1) 7 ehVj  

(2) 9 ehVj  

(3) 13 ehVj  

(4) 17 ehVj  

 

  
133. A room 15 m long requires 7500 

tiles, each 15 cm by 12 cm, to cover 

the entire floor, then the breadth of 

the room is :  

(1) 7 m  

(2) 9 m   

(3) 13 m  

(4) 17 m 

134. ,d vyhi o"kZ esa 53 jfookj gksus dh 
çkf;drk gS % 

(1) 
7

2
 (2) 

7

5  

(3) 
7

6
 (4) 

7

1  

  
134. The probability that a non-leap year 

has 53 Sundays, is : 

(1) 
7

2
 (2) 

7

5  

(3) 
7

6
 (4) 

7

1  
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 [ 39 ] [ A ] 

jQ dk;Z dsjQ dk;Z dsjQ dk;Z dsjQ dk;Z ds    fy, txgfy, txgfy, txgfy, txg/SPACE FOR ROUGH WORK 

Level-2/8110  P. T. O. 

135. ,d çdkj dh oLrq ij 20% dj ?kVk;k 
tk, rFkk mldh [kir 15% c<+k nh tk,] 
rks jktLo ij çHkko gS % 
 

(1) 8% c<+rh gS 

(2) 11% c<+rh gS 

(3) 8% ?kVrh gS 

(4) 11% ?kVrh gS 

  
135. A tax on an item is diminished by 

20% and its consumption increases 
by 15%, then the effect on revenue 
is :  

(1) increased by 8%  

(2) increased by 11%  

(3) decreased by 8%  

(4) decreased by 11%  

136. ,d nqdkunkj vius xzkgdksa dks 10% NwV 
nsus ij Hkh 20% dekrk gSA ` 450 Ø; 
ewY; dh ,d oLrq ij vafdr ewY; gS % 
 
 

(1) ` 600  

(2) ` 540 

(3) ` 615  

(4) ` 405 

  
136. A shopkeeper allow a discount of 

10% to his customers and still gains 
20%. What is the market price on an 
article which costs ` 450 to the 
shopkeeper ? 

(1) ` 600  

(2) ` 540 

(3) ` 615  

(4) ` 405 
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[ A ] [ 40 ] 

jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-2/8110   

137. ;fn ∑=++

=

n

r

r
r

n xaxx
2

0

2 ,)21( rks 
=ra  

(1) r
n
C

2   

(2) r
n
C  .  1+r

n
C  

(3) ( )
2

r
nC   

(4) 1
2

+r
nC  

  
137. If ∑=++

=

n

r

r
r

n xaxx
2

0

2 ,)21( then 
=ra  

(1) r
nC2   

(2) r
nC  .  1+r

n C  

(3) ( )
2

r
nC   

(4) 1
2

+r
nC  

138. ,d ik= esa 81 yhVj 'kq) nw/k gSA 
3

1  Hkkx 

nw/k dks leku ek=k esa ikuh ls çfrLFkkfir 

fd;k tkrk gSA u, feJ.k ds 
3

1  Hkkx dks 

leku ek=k esa ikuh ls iqu% çfrLFkkfir 
fd;k tkrk gSA u, feJ.k esa nw/k rFkk ikuh 
dk vuqikr D;k gksxk \ 

(1) 1 : 2 (2) 2 : 5 

(3) 3 : 7 (4) 4 : 5 

  
138. A pot contains 81 litres of pure milk. 

3

1  of the milk is replaced by the 

same amount of water. Again 
3

1
 of 

the mixture is replaced by that 
amount of water. What is the ratio of 
milk and water in the new mixture ?  

(1) 1 : 2 (2) 2 : 5 

(3) 3 : 7 (4) 4 : 5 
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 [ 41 ] [ A ] 

jQ dk;Z dsjQ dk;Z dsjQ dk;Z dsjQ dk;Z ds    fy, txgfy, txgfy, txgfy, txg/SPACE FOR ROUGH WORK 

Level-2/8110  P. T. O. 

139. ,d xksys dk O;kl 25% c<+kus ij blds 

vk;ru esa c<+ksrjh çfr'kr gS % 

 

(1) 59.13% 

(2) 59.31% 

(3) 95.13% 

(4) 95.31% 

  
139. The diameter of a sphere is increased 

by 25%. The percent increase in its 

volume is : 

(1) 59.13% 

(2) 59.31% 

(3) 95.13% 

(4) 95.31% 

140. ,d f=Hkqt ds rhuksa yEc Å¡pkb;ksa dk 

laxkeh fcUnq dgykrk gS % 

(1) vUr%dsUæ 

(2) dsUæd 

(3) yEc dsUæ 

(4) ifjdsUæ 

  
140. The point of concurrency of three 

altitudes of a triangle is called its : 

(1) incentre 

(2) centroid 

(3) orthocentre 

(4) circumcentre 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-2/8110   

141. ;fn a + b + c = 0, rks 

222222

444

accbba

cba

++

++  cjkcj gS % 

(1) 2 

(2) 1 

(3) 0 

(4) −2 

  
141. If a + b + c = 0, then 

222222

444

accbba

cba

++

++  is equal to : 

(1) 2 

(2) 1 

(3) 0 

(4) –2 

142. ;fn O dsUæ rFkk AD O;kl okys o`Ùk dh 

thok,¡ AB, BC vkSj CD cjkcj gSa] rks 

∠AOB = 

(1) 60°  

(2) 90° 

(3) 120°  

(4) 135° 

 

  
142. If AB, BC and CD are equal chords 

of a circle with O as centre and AD 

diameter, then ∠AOB = 

(1) 60°  

(2) 90° 

(3) 120°  

(4) 135° 
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 [ 43 ] [ A ] 

jQ dk;Z dsjQ dk;Z dsjQ dk;Z dsjQ dk;Z ds    fy, txgfy, txgfy, txgfy, txg/SPACE FOR ROUGH WORK 

Level-2/8110  P. T. O. 

143. js[kkvksa 22 32 yxyx +−  = 0 rFkk x + y = 1 

}kjk fufeZr f=Hkqt ds yEc dsUæ ds 
funsZ'kkad gSa % 

(1) 








4

1
,

4

1
  

(2) 








3

1
,

3

1  

(3) 








2

1
,

2

1
  

(4) (1, 1) 

  
143. The coordinates of the orthocenter of 

the triangle formed by the lines 
22 32 yxyx +−  = 0 and x + y = 1 are : 

(1) 








4

1
,

4

1
  

(2) 








3

1
,

3

1  

(3) 








2

1
,

2

1
  

(4) (1, 1) 

144. ;fn ,d lekUrj prqHkqZt dk ,d dks.k 
vius vklUu dks.k dk nks-frgkbZ gS] rks 
lekUrj prqHkqZt dk lcls NksVk dks.k gS % 
 

(1) 140°  

(2) 108° 

(3) 54°  

(4) 72° 

  
144. If an angle of a parallelogram is two-

third of its adjacent angle, then 

smallest angle of the parallelogram 

is : 

(1) 140°  

(2) 108° 

(3) 54° 

(4) 72° 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-2/8110   

145. nks la[;kvksa dk egÙke lekioR;Z 16 rFkk 
mudk y?kqÙke lekioR;Z 146 gks] rks dg 
ldrs gSa fd % 
(1) la[;kvksa ds ,sls dbZ tksM+s fo|eku gSaA 

 
(2) dsoy ,slk ,d ek= tksM+k fo|eku gSA 

 
(3) ,slk dksbZ tksM+k fo|eku ugha gSA 
(4) dsoy ,sls nks tksM+s fo|eku gSaA 

  
145. Two numbers have 16 as their HCF 

and 146 as their LCM, then one can 

say that : 

(1) many such pairs of numbers  

exist. 

(2) only one such pair of numbers 

exists. 

(3) no such pair of numbers exists. 

(4) only two such pairs of numbers 

exist. 

146. lecgqHkqt dk çR;sd vkarfjd dks.k gksrk gS % 
 

(1) (n − 2) × 180° 

(2) 
n

n °×− 180)2(  

(3) °×180
2

n  

(4) 
2

)3( −nn
 

 

  
146. The interior angle of a regular 

polygon is : 

(1) (n − 2) × 180° 

(2) 
n

n °×− 180)2(  

(3) °×180
2

n  

(4) 
2

)3( −nn  
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 [ 45 ] [ A ] 

jQ dk;Z dsjQ dk;Z dsjQ dk;Z dsjQ dk;Z ds    fy, txgfy, txgfy, txgfy, txg/SPACE FOR ROUGH WORK 

Level-2/8110  P. T. O. 

147. ,d oxZ dk ifjeki 224  lseh gSA bldk 

fod.kZ gS % 

(1) 26  lseh 

(2) 28  lseh  

(3) 8 lseh  

(4) 12 lseh  

 

  
147. Perimeter of a square is 224  cm. 

Its diagonal is : 

(1) 26  cm 

(2) 28  cm  

(3) 8 cm 

(4) 12 cm  

148. fuEu esa bdkbZ ds LFkku ij dkSu-lh la[;k 
gS \ 

339138271751 )339()137()263()751( ×××  

(1) 6 

(2) 7 

(3) 8 

(4) 9 

  
148. What is the number in the unit place 

in the following ? 

339138271751 )339()137()263()751( ×××  

(1) 6 

(2) 7 

(3) 8 

(4) 9 
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jQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txgjQ dk;Z ds fy, txg/SPACE FOR ROUGH WORK 

Level-2/8110   

149. dqN iq#"k fdlh dk;Z dks 60 fnuksa esa dj 
ldrs gSaA ;fn 8 iq#"k de gksa] rks ;g dk;Z 
10 vf/kd fnuksa esa iw.kZ gks ldsxkA iq#"kksa 
dh la[;k gS % 
(1) 14 iq#"k  

(2) 28 iq#"k 

(3) 56 iq#"k  

(4) 112 iq#"k 

  
149. A certain number of men can do a 

work in 60 days. If there were 8 men 

less it could be finished in 10 days 

more. Number of men are : 
(1) 14 men  

(2) 28 men 

(3) 56 men  

(4) 112 men 

150. fdlh ikB ;kstuk esa mn~ns'; dks fdl :i 
eas fy[kk tkuk pkfg, \ 

(1) O;ogkj 

(2) lkjka'k 

(3) izsjd 

(4) iwoZ Kku 

  
150. In a lesson plan the aim should be 

stated in terms of : 

(1) Behaviour 

(2) Summary 

(3) Motivation 

(4) Previous Knowledge 
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy 
IokbaV iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 
darkening complete circle using Black ball point pen as 
shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 
 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk 
iz;ksx fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d oÙ̀k dks gh iwjh rjg dkys ckWy 
IokbaV iSu ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each question, 

only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer 

Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d 
esa fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer 

Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk 
dh fLFkfr dks NksM+dj½ nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with 

care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates should write the 

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh 
ifpZ;k¡] istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic 

device or any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on 

demand his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn 
fdlh vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g 
vuqfpr lk/ku dk ekeyk ekuk tk,xkA OMR mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu’kku 
yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh 
ek=k u rks cgqr vf/kd gks o u gh cgqr deA (The candidates should not leave the Examination Hall without handing over 

their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the 

Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. 

All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should 

be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn’kk&funsZ’k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA 
vuqfpr lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in 

the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
iz'u&iqfLrdk dks ys tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator 

in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
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